NAME Splashlearn

Halloween Addition or Subtraction

Solve the following word problems.

On halloween, Jack bought 2.45 pounds of candy.
He ate 0.98 pounds of candy on the same night.
How many pounds of candy does he have left?

Jenny bought a halloween costume for $34.99 and
a pumpkin for $2.3. How much did she spend in
total?

Tom had 2.35 pounds of candy. He gave 1.56
pounds to trick-or-treaters. How many pounds of
candy does he have left?

For halloween, Mike bought a pumpkin that
weighed 5.30 pounds and another that weighed
4.25 pounds. What is the total weight of the
pumpkins?

A halloween store had 85.50 dollars in the cash
register. After selling a few costumes, they had
105.75 dollars. How much did they make from
selling the costumes?

Mike bought a halloween costume for $45.99 and
sold it to his friend for $56.9. How much profit did
he make?

Jack collected 3.25 pounds of candy during trick-
or-treating. His sister gave him another 2.50
pounds of candy. How much candy does Jack have
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